



Prevalence, Risk Factors, and Clinicopathological Characterization of Ocular and Renal Complications of Diabetes Mellitus in Dogs

Khanh Nguyen Dinh¹ , Tan Nhat Nguyen¹ , Linh Ngoc Thuy Bui¹ , Tuyen Thi Kim Le² , and Thuong Thi Nguyen^{1*}

¹Faculty of Animal Science and Veterinary Medicine, Nong Lam University, Ho Chi Minh City, Vietnam

²Faculty of Animal Science and Veterinary Medicine, Nong Lam University, Ho Chi Minh City, Ninh Thuan Campus, Vietnam

*Corresponding author's Email: thuong.nguyenthi@hcmuaf.edu.vn

ABSTRACT

Canine diabetes mellitus (DM) is an endocrinopathy in dogs, which can lead to diabetic complications in the patient's eyes and kidneys. The present study aimed to describe the prevalence, risk factors, hematologic and serum biochemical findings, and incidence of ocular and renal complications of DM in dogs at veterinary clinics in Ho Chi Minh City, Vietnam. Dogs brought to veterinary clinics with clinical signs of polyuria, polydipsia, polyphagia, and weight loss were examined for DM, including hematology, serum biochemical, and urine analyses, from January to December 2025. Dogs confirmed with DM had hyperglycemia after at least 8 hours of fasting and concomitant glycosuria. The incidence of ocular and renal complications of diabetic dogs was recorded by using slit-lamp and urine parameters (elevated serum creatinine, blood urea nitrogen, microalbuminuria, and urine protein-to-creatinine ratio), respectively. Twenty canine DM cases were identified, accounting for 1.43% of the total dogs brought to veterinary clinics during the study. The mean age of diabetic dogs was 6.35 ± 3.65 years. The highest prevalence of DM was in the 3-8 years old group, the overweight group, and the male-neutered group among male dogs; however, female-entire dogs had the highest overall prevalence (3.36%). Diabetic dogs demonstrated elevated mean corpuscular volume, mean corpuscular hemoglobin, alanine aminotransferase, aspartate transaminase, alkaline phosphatase, creatinine, blood urea nitrogen, and cholesterol, and decreased Lymphocytes, red blood cells, hemoglobin, and hematocrit-in hematology and serum biochemical analyses. Urinalysis results of diabetic dogs demonstrated an increase in creatinine, microalbuminuria, and proteinuria, which could be used to diagnose diabetic renal complications in dogs. Cataract formation was the only ocular complication recorded in the present study, which was recorded in 5 diabetic dogs, and all diagnosed dogs had cataracts in both eyes. Renal failure was observed in 5 diabetic dogs, including 4 dogs with stage 4 renal failure and 1 dog with stage 3 renal failure. No dogs had both ocular and renal complications at the same time. In the current study, dogs that were older, overweight, or male-neutered had higher DM prevalence, with cataracts and stage 4 renal failure being the most common diabetic complications.

Keywords: Diabetes mellitus, Dog, Hematology, Ocular complication, Renal complication

INTRODUCTION

Canine diabetes mellitus (DM) is a common endocrine disease in dogs, which is characterized by persistent hyperglycemia resulting from insulin deficiency in production, action, or both (Ettinger et al., 2017). Depending on the mechanism causing hyperglycemia, canine DM is divided into insulin-dependent and non-insulin-dependent (Vaitaitis et al., 2024). Insulin-dependent diabetes (type I DM) is characterized by the destruction of pancreatic beta cells by immune-mediated mechanisms, usually leading to insulin deficiency (Ettinger et al., 2017; Vaitaitis et al., 2024). Most diabetic dogs are thought to have insulin-dependent DM (Feldman et al., 2015). In previous studies in North America and Europe, the prevalence of canine DM was approximately 0.32% to 1.33% of total dogs brought to veterinary clinics (Guptill et al., 2003; Fracassi et al., 2004; Mattin et al., 2014). Risk factors associated with canine DM were breed, sex, neuter status, age, and body condition (Mattin et al., 2014). Breeds at high risk for DM included Bichon Frise, Australian Terrier, Siberian Husky, Standard Schnauzer, Samoyed, Poodle, and Yorkshire Terrier (Guptill et al., 2003; Fracassi et al., 2004). These breeds had genetic factors that increased the risk of developing DM (Catchpole et al., 2013). Gender was reported to be one of the risk factors for DM in previous studies (Fall et al., 2007). Furthermore, neuter status was reported to be a risk factor for DM in female dogs, as progesterone-induced diabetes occurs during pregnancy (Fall et al., 2007). Previous studies showed that age was one of the risk factors for DM, as DM was most commonly diagnosed in dogs above 10 years old (Guptill et al., 2003; Fall et al., 2007). Overweight was also associated with DM in dogs (Mattin et al., 2014).



New management strategies and therapies for canine DM might alter the outcome of diabetic patients and increase their lifespan (Mattin et al., 2014). As a result, ocular and renal complications of DM in dogs have also become more common (Miller and Brines, 2018; Priyanka et al., 2018). Cataract formation is one of the most common diabetic complications in dogs (Miller and Brines, 2018). Diabetic cataract, due to the accumulation of sorbitol and galactitol in the lens, is irreversible, which can eventually lead to blindness (Cantero et al., 2023). Diabetic nephropathy is a chronic complication that takes years to progress to renal failure, which (Bloom and Rand, 2013). Consequently, diabetic renal complications were rarely reported in dogs with DM. However, there have been only a few studies on the prevalence of canine DM, as well as ocular and renal complications of diabetes in dogs in Vietnam. Therefore, the present study aimed to investigate the prevalence and risk factors of DM in dogs and the incidence of ocular and renal complications in diabetic dogs in Ho Chi Minh City, Vietnam.

MATERIALS AND METHODS

Ethical approval

Ethics approval was provided by the Animal Ethics Committee, Nong Lam University, Ho Chi Minh City, Vietnam.

Hematology, serum biochemistry, and urine analyses

A total of 1,390 dogs were examined for DM from January to December 2025 at two veterinary clinics in Ho Chi Minh City, Vietnam. Dogs with clinical signs of canine DM, such as polyuria, polydipsia, polyphagia, and weight loss, were examined for DM by veterinarians. A total of 20 blood samples, with 2 mL of blood for each sample, were collected from the cephalic vein and analyzed by an automated biochemistry analyzer (Pointcare V3, MNChip, China) for serum biochemistry analysis and an automated hematology analyzer (DH36Vet, Dymind, China) for hematology analysis. Approximately 5-10 mL of urine was collected and analyzed by urine test strips (Vet11AC, DFI, Korea) and a urine reader (UriDoctor Vet, DFI, Korea). Dogs with at least 8 hours of fasting before blood sampling, confirmed with DM, had persistent fasting hyperglycemia (blood glucose above 6.6 mmol/L) and concomitant glycosuria (Ettinger et al., 2017). Dogs with fasting status less than 8 hours at the time of blood collection were excluded from the study. The recorded data included breed group (domestic, foreign), sex (male, female), neuter status (neutered, entire), age categories (1-3 years, 3-8 years, over 8 years), and body condition, which was determined using the Body Condition Score by the World Small Animal Veterinary Association (WSAVA, 2025).

Ocular and renal complications

Dogs previously diagnosed with DM or newly diagnosed with DM in the study were screened for cataract formation. A slit lamp (PSL One Portable Slit Lamp, Keeler, USA) was used by veterinarians to confirm and determine the stages of cataracts (Cantero et al., 2023). Cataracts were divided into five stages, including initial, immature, mature, hypermature, and intumescent. Diabetic dogs were also tested for renal complications. Diabetic dogs confirmed with renal complications had elevated serum creatinine ($> 176.8 \mu\text{mol/L}$), blood urea nitrogen ($> 10.4 \text{ mmol/L}$), microalbuminuria (or proteinuria), and elevated urine protein-to-creatinine ratio (> 0.5 ; Bloom and Rand, 2013). The severity of kidney disease was determined by International Renal Interest Society (IRIS) references (IRIS, 2023).

Statistical analysis

Data were collected and analyzed with Minitab statistical software (Minitab 17, Minitab LLC, USA), with statistical significance determined by a p -value less than 0.05. Multiple regression was used to assess the risk factors for diabetes in dogs by breed, sex, and neuter status. Chi-square and Fisher's tests were used to compare the prevalence of diabetes across age groups, body condition, and neuter status within the same sex.

RESULTS AND DISCUSSION

Prevalence of diabetes mellitus

In a total of 1,390 dogs brought to veterinary clinics in this study, there were 20 dogs diagnosed with DM, which accounted for 1.43% of the total cases. The prevalence of DM in dogs was influenced by sample size, population of each dog breed, geographical location, duration of the study, and the care habits of the owners. Previous studies showed that the prevalence of DM in dogs was from 0.34% to 1.33% of total dogs brought to veterinary hospitals (Guptill et al., 2003; Fracassi et al., 2004; Mattin et al., 2014). Diabetes mellitus in dogs can be discovered incidentally when the patients are brought to the veterinary clinics due to other diseases. In the study by Mattin et al. (2014), approximately 47% of DM dogs were incidentally diagnosed with diabetes during veterinary hospital visits for other diseases.

The prevalence of DM in a domestic dog breed (Phu Quoc Ridgeback) and foreign dog breeds (one French Bull, one Golden Retriever, two Labrador Retrievers, two Pugs, two Alaskas, three Poodles) was 1.37% (9/658) and 1.50% (11/732), respectively (Table 1). The results of the current study showed that dog breed did not significantly increase the risk of DM in dogs ($p > 0.05$). However, according to previous studies, dog breed was one of the risk factors for canine diabetes (Catchpole et al., 2013; Feldman et al., 2015). The breeds with a high possibility of DM were Samoyed, Poodle, and Cairn Terrier (Ettinger et al., 2017). Furthermore, Irish and English Setters were proven to have a 2-4 times higher risk of developing diabetes compared to mixed breeds (Fracassi et al., 2004). Differences in the prevalence of diabetes in dog breeds are also influenced by the breed's geographical distribution (Fracassi et al., 2004). Previous studies on diabetes-related genes in dogs have been conducted on certain breeds (Catchpole et al., 2013; Short et al., 2014). However, the number of experimental samples in diabetes-related genetic studies was still relatively low, and the genes selected for veterinary studies were primarily based on human studies (Denyer et al., 2021).

Table 1. Breed, sex, and neuter status of dogs with diabetes mellitus presented to veterinary clinics in Ho Chi Minh City, Vietnam, from January to December 2025

Parameters	Surveyed dogs	Diabetic dogs	Prevalence	P-value
Breed				
Domestic	658	9	1.37 ^a	0.833
Foreign	732	11	1.50 ^a	
Sex				
Male	774	8	1.03	0.155
Female	616	12	1.95	
Neuter status				
Neutered	588	14	2.38 ^a	< 0.05
Entire	802	6	0.75 ^b	

^{a,b} Mean different superscript letters indicate a significant difference among groups in the same column ($p < 0.05$)

The prevalence of DM in female dogs recorded at the clinic during the survey period was 1.95% (12/616), and in male dogs it was 1.03% (8/774; Table 1). The prevalence of diabetes in neutered dogs was 2.38% (14/588), higher than the prevalence of diabetes in entire dogs, which was 0.77% (6/802; $p < 0.05$). In the current study, the result showed that the prevalence of DM in male dogs (1.05%) was lower than in female dogs (1.95%), but statistical analysis showed no significant difference. The study by Mattin et al. (2014) also showed that sex was not a risk factor for DM in dogs. However, a previous study by Fall et al. (2007) indicated that female dogs were more susceptible to DM than male dogs. In male dogs of the present study, the prevalence of diabetic neutered dogs was 2.32%, which was higher than diabetic male-entire dogs (0.21%; Table 2; $p < 0.05$). Sex hormones are thought to play a significant role in the risk of diabetes in dogs; for instance, male sex hormones help reduce the risk, while female sex hormones increase the risk of DM (Feldman et al., 2015). Hormonal changes in female dogs during pregnancy were considered to be the main cause of increased DM risk in female dogs, while male sex hormones were thought to be the reason why male dogs were less obese than female dogs, which resulted in a lower incidence of DM in male dogs (Mattin et al., 2014). The trend of spaying female dogs to avoid unwanted pregnancies has changed over time, which might also influence the sex-associated incidence of diabetes in dogs (Fall et al., 2007). Therefore, neuter status may affect the prevalence of DM in dogs.

The mean age of diabetic dogs was 6.35 ± 3.65 years. Dogs aged 3-8 years had the highest percentage of DM (1.66%), followed by the above 8 years old group (1.66%), and the 1-3 years old group (0.29%; Table 2; $p > 0.05$). Geriatric dogs are more likely to develop diseases such as DM. In a study by Mattin et al. (2014), dogs in the 8-11 years old group accounted for about 40% of diabetic dogs, followed by the 11-13 years old group (27.3%), 3-8 years old group (19.6%), and the over 13 years old group (12.4%). Another study by Guptill et al. (2003) also indicated that dogs aged 8-15 years had the highest percentage of diabetic dogs, which was approximately 75% of diabetic dogs. The mean age of diabetic dogs in the current study was relatively low (about 6 years old), which indicated a lack of awareness of nutrition and canine DM control in the area.

The overweight group had a diabetic prevalence of 2.60% (13/500), higher than the under ideal (1/412) and ideal (6/478) groups ($p < 0.05$). All female dogs were confirmed not to be pregnant at the time of survey. Neutered male dogs had a prevalence of diabetes of 2.32%, higher than entire male dogs (0.21%; $p < 0.05$). The incidence of diabetes in neutered female dogs was 1.28%, and the incidence of diabetes in entire female dogs was 3.36%. Dogs with DM can have either ideal, under ideal, or over ideal body condition (Ettinger et al., 2017). Untreated DM in dogs over a long

period may lead to weight loss; however, severe loss of muscle mass is rare unless there is another underlying disease, such as exocrine pancreatic insufficiency (Feldman et al., 2015). However, obesity is considered one of the risk factors of DM in dogs (Feldman et al., 2015). A study by Mattin et al. (2014) indicated that overweight dogs were shown to have a higher risk of developing the disease compared to non-overweight dogs. Approximately 15% of diabetic dogs were obese, according to a study by Thao et al. (2015). Dogs diagnosed with diabetes are usually given regular check-ups, and their body weight can be appropriately controlled.

Table 2. Age, body condition, and sex-neuter status of dogs with diabetes mellitus presented to the veterinary clinics in Ho Chi Minh City, Vietnam from January to December 2025

Parameters	Surveyed dogs	Diabetic dogs	Prevalence	P-value
Age group				
1-3 years old	350	1	0.29 ^a	0.105
3-8 years old	678	13	1.92 ^b	
Above 8 years old	362	6	1.66 ^b	
Body conditions				
Under ideal	412	1	0.24 ^a	0.011
Ideal	478	6	1.26 ^{ab}	
Overweight	500	13	2.60 ^b	
Sex-neuter status				
Male-neuter	302	7	2.32 ^a	0.007
Male-entire	472	1	0.21 ^b	
Female-neuter	286	7	2.45	0.147
Female-entire	330	5	1.52	

^{a,b} Mean different superscript letters indicate a significant difference among groups in the same column ($p < 0.05$)

Hematology, serum biochemistry, and urine results

In the current study, most diabetic dogs had normal hematology results within the reference range. The average results for mean corpuscular volume (MCV) and mean corpuscular hemoglobin (MCH) were higher than the reference range, while lymphocyte percentage (Lym%) was below the reference range (Table 3). There were 15 diabetic dogs with elevated MCV, and 13 dogs with elevated MCH. The percentage of diabetic dogs with decreased red blood cells (RBC), hematocrit (HCT), and hemoglobin (HGB) was 30%, 40%, and 40%, respectively. Hematological abnormalities could affect other tissues and organs, which could lead to complications such as cataracts and kidney disease in diabetic dogs (Mansour et al., 2023). However, there are not many studies on the relationship between hematological abnormalities and DM in dogs. In the present study, diabetic dogs had Lym, RBC, HGB, HCT, MCV, and MCHC outside the reference ranges reported by Vaden (2009). High blood glucose levels lead to the non-enzymatic binding of glucose to red blood cell protein (HbA1c), causing red blood cells to bind more tightly to oxygen, making it difficult to release oxygen to tissues and resulting in localized tissue hypoxia (Mansour et al., 2023). In cases of inflammation or pancreatitis, neutrophil counts could be elevated (Peter, 2017). A study conducted by Slead et al. (2022) on hematological analysis and blood smears in diabetic dogs showed that RBC, HGB, and HCT counts were lower, and WBC counts in diabetic dogs were higher than the reference range. Furthermore, diabetic ketoacidosis is often found in diabetic dogs with an overproduction of codocytes (Slead et al., 2022).

In the present study, the average values of aspartate aminotransferase (AST), alkaline phosphatase (ALP), creatinine (Crea), blood urea nitrogen (BUN), and cholesterol (CHOL) were higher than the reference range (Table 3). The results showed that approximately 25% of diabetic dogs might have liver diseases, with elevated AST and ALP. In the present study, there were 5 diabetic dogs that showed elevated Crea and BUN, suggesting that diabetes in dogs may be associated with urinary diseases. Elevated CHOL was also observed in 5 dogs, which accounted for 25% of the total number of diabetic cases. Other serum biochemistry parameters were recorded within the reference range in most diabetic dogs. In the study, a proportion of diabetic dogs showed abnormalities in liver and kidney functions. In diabetic dogs, hypovolemia could occur, which leads to hepatocellular damage and elevated serum AST, ALP, and ALT in the serum biochemistry analysis panel (Babazadeh et al., 2022). An increase in serum creatinine and BUN could indicate kidney disease or diabetic renal complications (O'Brien, 2010). Dogs with DM often exhibit hyperketonemia, which eventually could lead to ketoacidosis (Slead et al., 2022). Diabetic ketoacidosis occurs when the body increases ketone production to compensate for inefficient glucose utilization in the blood (Feldman et al., 2015). A previous study demonstrated the potential of HbA1c and fructosamine in canine DM diagnosis (Baldo et al., 2020). However, elevated serum fructosamine levels within the reference range can still occur in dogs with newly diagnosed diabetes shortly before veterinary clinic admission (Ettinger et al., 2017; Norris and Schermerhorn, 2022).

In the present study, there were 7 dogs recorded with hyperketoneuria, and 11 dogs also showed hyperalbuminuria (Table 4). An elevated protein/creatinine ratio was also observed in 5 dogs. Urinalysis is one of the tests that should be performed in cases of diabetic dogs (Ettinger et al., 2017). A study by Mazzi et al. (2008) showed that approximately 25% of diabetic dogs had albuminuria, which could also be an indicator for detecting diabetic kidney damage. In the same study, the percentage of dogs with elevated protein/creatinine and albumin/creatinine levels was 71%. Glucosuria may increase the risk of urinary tract infections (Ettinger et al., 2017). Therefore, bacterial culture and isolation in urine can be performed to assess the presence of urinary tract infections.

Table 3. Hematology and serum biochemistry analysis of diabetic dogs presented to veterinary clinics in Ho Chi Minh City, Vietnam from January to December 2025

Parameter	Unit	Reference range*	Average result	Below reference range	Within reference range	Above reference range
Hematology analysis						
WBC	10 ³ /μL	6-17	15.61	10%	75%	15%
Lym	10 ³ /μL	1-5	1.93	15%	80%	5%
Lym percentage	%	24-26	14.57	65%	25%	10%
RBC	10 ⁶ /μL	5.4-7.8	6.22	30%	65%	5%
HGB	g/dL	13-20	13.72	40%	60%	-
HCT	%	40-60	40.09	40%	60%	-
MCV	fL	39-52	64.56	-	25%	75%
MCH	pg	13-21	22.01	-	35%	65%
MCHC	g/dL	30-38	34.16	-	95%	5%
PLT	10 ³ /μL	170-575	337	15%	70%	15%
Serum biochemistry analysis						
ALB	g/L	22-44	34.72	-	100%	-
TP	g/L	57-89	70.94	5%	90%	5%
GLOB	g/L	23-52	38.23	-	90%	10%
A/G			1.5			
TBIL	μmol/L	0-15	7.39	-	100%	-
ALT	U/L	5-130	108.52	-	95%	5%
AST	U/L	0-48	56.33	-	75%	25%
ALP	U/L	14-111	178.34	-	75%	25%
Crea	μmol/L	53-177	254.98	10%	65%	25%
BUN	mmol/L	2.9-10.4	12.00	-	75%	25%
BUN/Crea			19.02			
GLU	mmol/L	3.89-6.66	10.27	-	-	100%
CHOL	mmol/L	1.68-5.81	6.07	-	75%	25%

WBC: White blood cells, Lym: Lymphocytes, RBC: Red blood cells, HGB: Hemoglobin, HCT: Hematocrit, MCV: Mean corpuscular volume, MCH: Mean corpuscular hemoglobin, MCHC: Mean corpuscular hemoglobin concentration, PLT: Platelets, ALB: Albumin, TP: Total protein, GLOB: Globulin, A/G: Albumin/globulin ratio, TBIL: Total bilirubin, ALT: Alanine aminotransferase, AST: Aspartate transaminase, ALP: Alkaline phosphatase, Crea: Creatinine, BUN: Blood urea nitrogen, GLU: Blood glucose, CHOL: Cholesterol. The source of the reference ranges was Vaden (2009).

Ocular and renal complications

In the current study, the incidence of cataract complications in diabetic dogs was 25% (5/20 cases; Table 5). However, cataract was the only ocular complication recorded in diabetic dogs. All cases of diabetic dogs with cataracts in the study were observed in both eyes. There was one case of immature, one case of mature, and three cases of hypermature cataract. There was one case of incipient and intumescent cataracts recorded. The duration of DM and the time of cataract onset were not recorded in any of the cataract cases. Cataract formation is one of the most common eye complications in diabetic dogs (Miller and Brines, 2018). A study by Beam et al. (1999) showed that 14% of dogs diagnosed with DM already had cataract formation. Over 65% of diabetic dogs had cataracts, and approximately 80% of diabetic dogs developed cataracts after about 16 months (Beam et al., 1999). The incidence of cataract in diabetic dogs in the current study was lower than in a previous study, which might be due to the low mean age of diabetic dogs. In a study of cataract formation in dogs by Donzel et al. (2017), the average age of diabetic dogs with cataracts was about 10 years old. While it was hypothesized that glycemic control prolongs the time to cataract development, a recent study by

Arad et al. (2025) indicated that dogs with hyperglycemia and increased glycemic variability had diabetic cataracts develop rapidly.

Table 4. Urinalysis of diabetic dogs presented to the veterinary clinics in Ho Chi Minh City, Vietnam from January to December 2025

Parameter	Unit	Reference range*	Below reference range	Within reference range	Above reference range
GLU	mg/dL	Negative	-	-	100%
Bilirubin		Negative	-	80%	20%
Ketone	mg/dL	Negative	-	65%	35%
USG		1.015-1.025	-	15%	85%
RBC	cells/hpf	< 2-5	-	100%	-
pH		6-7.5	25%	75%	-
Protein	mg/dL	Negative	-	55%	45%
Nitrite		Negative	-	90%	10%
WBC	cells/hpf	< 2-5	-	80%	20%
Microalbumin	mg/L	0-1	-	45%	55%
Creatinine	mg/dL	0-0.5	-	25%	75%
P/C		0-0.5	-	75%	25%

USG: Urine specific gravity, Ketone: Urine ketone, Creatinine: Urine creatinine, P/C: Urine protein/creatinine ratio, RBC: Urine red blood cells, WBC: Urine white blood cells, hpf: High-power field. Source: Vaden (2009)

Table 5. Incidence of cataracts in diabetic dogs presented to veterinary clinics in Ho Chi Minh City, Vietnam from January to December 2025

Stage of cataracts	Number of cases	Percentage
Incipient cataract	-	-
Immature cataract	1	5
Mature cataract	1	5
Hyper mature cataract	3	15
Intumescent cataract	-	-
Total	5	25

The incidence of renal complications in dogs was 25% of the total number of diabetic dogs (5/20 cases). Based on the IRIS classification of chronic kidney disease stages in dogs, there were 4 cases classified as stage 4 chronic kidney disease, and 1 case as stage 3. None of the dogs with renal complications also developed cataracts during the study period. Urinalysis for microalbuminuria is a method to detect renal complications due to diabetes. Microalbuminuria occurs in diabetic dogs, and the albumin/creatinine ratio in urine increases before the urine protein and creatinine ratio in urine increases (Mazzi et al., 2008). According to a study by Mazzi et al. (2008), over 50% of diabetic dogs have an elevated albumin/creatinine ratio in their urine.

CONCLUSION

Cataract formation was the most common diabetic ocular disease in dogs. Most diabetic dogs with renal complications had stage 4 chronic kidney disease. However, the associations between diabetic complications and DM in dogs still need more investigation. More studies are needed to investigate the associations between microalbuminuria and renal complications in diabetic dogs. The present study had certain limitations, as only 20 diabetic dogs were recorded, which may not reflect actual clinical effects, despite the statistical difference observed between the groups compared. Additionally, the study did not record or analyze data on dogs' dietary intake and daily exercise, which could influence the risk of developing DM. More studies are needed to investigate the associations between microalbuminuria and renal complications in diabetic dogs.

DECLARATIONS

Acknowledgments

The authors would like to thank the staff, colleagues, and veterinarians at Nong Lam University, Ho Chi Minh City, Vietnam, for their help in completing the present study.

Authors' contributions

Thuong Thi Nguyen and Khanh Nguyen Dinh carried out conceptualization, methodology, formal analysis, original draft preparation, review, and editing. Tan Nhat Nguyen participated in formal analysis, original draft preparation, review, and editing of the study. Linh Ngoc Thuy Bui and Tuyen Thi Kim Le participated in original draft preparation. All authors have read and approved the final edition of the manuscript before publication in the present journal.

Availability of data and materials

The authors of the present study confirm that all data supporting the findings of the present study are available upon reasonable request from the corresponding author.

Competing interests

The authors declare no conflict of interest.

Ethical considerations

This article was written originally without any copying from data of published articles and books. The authors used NotebookLM to find appropriate articles for citation in the study. The authors take full responsibility for all use of artificial intelligence (NotebookLM) for identifying suggested citations. All suggested citations have been verified and reviewed by the authors. The authors are solely responsible for the accuracy, originality, and integrity of the final manuscript before submission, during the revision and publication of the article.

Funding

The authors are grateful to Nong Lam University, Ho Chi Minh City, for providing a scientific research grant for the project ID No. CS-CB25-CNTY-07.

REFERENCES

- Arad D, Ofri R, Sebbag L, Rimer D, and Mazaki-Tovi M (2025). The effect of glycemic control on diabetic cataract progression rate in dogs: A preliminary study. *The Veterinary Journal*, 314: 106491. DOI: <https://www.doi.org/10.1016/j.tvjl.2025.106491>
- Babazadeh D, Shabestari Asl A, Sadeghi A, Saeed M, and Moshavery A (2022). Comparative histopathologic evaluation of the effects of portulaca oleracea, omega-3, and combination of sodium selenite and vitamin E on hepatic enzymes of experimental diabetic rats. *Small Animal Advances*, 1(1): 4-9. DOI: <https://www.doi.org/10.58803/saa.v1i1.2>
- Baldo FD, Magna L, Dondi F, Maramieri P, Catrina OM, Corradini S, Linari G, Golinelli S, Tardo AM, Bonfanti U et al. (2020). Comparison of serum fructosamine and glycated hemoglobin values for assessment of glycemic control in dogs with diabetes mellitus. *American Journal of Veterinary Research*, 81(3): 233-242. DOI: <https://www.doi.org/10.2460/ajvr.81.3.233>
- Beam S, Correa MT, and Davidson MG (1999). A retrospective-cohort study on the development of cataracts in dogs with diabetes mellitus: 200 cases. *Veterinary Ophthalmology*, 2(3): 169-172. DOI: <https://www.doi.org/10.1046/j.1463-5224.1999.00073.x>
- Bloom CA and Rand JS (2013). Diabetes and the kidney in human and veterinary medicine. *Veterinary Clinics of North America: Small Animal Practice*, 43(2): 351-365. DOI: <https://www.doi.org/10.1016/j.cvsm.2012.11.002>
- Cantero F, Ortillés Á, Peña TM, and Leiva M (2023). Prevalence of ocular findings and their association with glycemia in dogs with diabetes mellitus: A 10-year clinical study (2009-2019). *Open Veterinary Journal*, 13(5): 620-628. DOI: <https://www.doi.org/10.5455/OVJ.2023.v13.i5.15>
- Catchpole B, Adams JP, Holder AL, Short AD, Ollier WER, and Kennedy LJ (2013). Genetics of canine diabetes mellitus: Are the diabetes susceptibility genes identified in humans involved in breed susceptibility to diabetes mellitus in dogs?. *The Veterinary Journal*, 195(2): 139-147. DOI: <https://www.doi.org/10.1016/j.tvjl.2012.11.013>
- Denyer AL, Catchpole B, and Davison LJ (2021). Genetics of canine diabetes mellitus part 1: Phenotypes of disease. *The Veterinary Journal*, 270: 105611. DOI: <https://www.doi.org/10.1016/j.tvjl.2021.105611>
- Donzel E, Arti L, and Chahory S (2017). Epidemiology and clinical presentation of canine cataracts in France: A retrospective study of 404 cases. *Veterinary Ophthalmology*, 20(2): 131-139. DOI: <https://www.doi.org/10.1111/vop.12380>
- Ettinger SJ, Feldman EC, and Côté E (2017). Canine diabetes mellitus. *Veterinary internal medicine: Diseases of the dog and the cat*. Elsevier., St. Louis, Missouri, pp. 1767-1781. Available at: https://catalog.nlm.nih.gov/discovery/fulldisplay/alma9916949113406676/01NLM_INST:01NLM_INST
- Fall T, Hamlin HH, Hedhammar A, Kämpe O, and Egenvall A (2007). Diabetes mellitus in a population of 180,000 insured dogs: Incidence, survival, and breed distribution. *Journal of Veterinary Internal Medicine*, 21(6): 1209-1216. DOI: <https://www.doi.org/10.1892/07-021.1>
- Feldman EC, Nelson RW, Reusch CE, and Scott-Moncrieff JCR (2015). Canine diabetes mellitus. *Canine and feline endocrinology*, 4th Edition. Elsevier Saunders., St. Louis, Missouri, Chapter 6, pp. 213-257. DOI: <https://www.doi.org/10.1016/B978-1-4557-4456-5.00006-7>

- Fracassi F, Pietra M, Boari A, Aste G, Giunti M, and Famigli-Bergamini P (2004). Breed distribution of canine diabetes mellitus in Italy. *Veterinary Research Communications*, 28: 339-342. DOI: <https://www.doi.org/10.1023/B:VERC.0000045441.77213.3b>
- Guptill L, Glickman L, and Glickman N (2003). Time trends and risk factors for diabetes mellitus in dogs: Analysis of veterinary medical data base records (1970-1999). *The Veterinary Journal*, 165(3): 240-247. DOI: [https://www.doi.org/10.1016/S1090-0233\(02\)00242-3](https://www.doi.org/10.1016/S1090-0233(02)00242-3)
- International renal interest society (IRIS) (2023). IRIS staging of chronic kidney disease. Available at: https://static1.squarespace.com/static/666b9ecb4064a156963b4162/t/66a6dbc90ca6986e1b5c06bd/1722211273243/2_IRIS_Staging_of_CKD_2023.pdf
- Mattin M, O'Neill D, Church D, McGreevy PD, Thomson PC, and Brodbelt D (2014). An epidemiological study of diabetes mellitus in dogs attending first opinion practice in the UK. *Veterinary Record*, 174(14): 349-349. DOI: <https://www.doi.org/10.1136/vr.101950>
- Mansour H, Ghanem M, Abdel-Raouf Y, and Helal M (2023). Evaluation of long-term complications of diabetes mellitus in dogs. *Benha Veterinary Medical Journal*, 45(1): 26-31. DOI: <https://www.doi.org/10.21608/bvmj.2023.230758.1712>
- Mazzi A, Fracassi F, Dondi F, Gentilini F, and Famigli BP (2008). Ratio of urinary protein to creatinine and albumin to creatinine in dogs with diabetes mellitus and hyperadrenocorticism. *Veterinary Research Communications*, 32(Suppl 1): S299-S301. DOI: <https://www.doi.org/10.1007/s11259-008-9133-z>
- Miller EJ and Brines CM (2018). Canine diabetes mellitus associated ocular disease. *Topics in Companion Animal Medicine*, 33(1): 29-34. DOI: <https://www.doi.org/10.1053/j.tcam.2018.03.001>
- Norris O and Schermerhorn T (2022). Relationship between HbA1c, fructosamine and clinical assessment of glycemic control in dogs. *PLOS ONE*, 17(2): e0264275. DOI: <https://www.doi.org/10.1371/journal.pone.0264275>
- O'Brien MA (2010). Diabetic emergencies in small animals. *Veterinary Clinics of North America: Small Animal Practice*, 40(2): 317-333. DOI: <https://www.doi.org/10.1016/j.cvsm.2009.10.003>
- Peter AG (2017). Urinalysis. *Veterinary internal medicine: Diseases of the dog and the cat*. Elsevier., St. Louis, Missouri, pp. 283-288. Available at: https://catalog.nlm.nih.gov/permalink/01NLM_INST/1fua1rm/alma9916949113406676
- Priyanka M, Jeyaraja K, and Thirunavakkarasu PS (2018). Abnormal renovascular resistance in dogs with diabetes mellitus: Correlation with glycemic status and proteinuria. *Iranian Journal of Veterinary Research*, 19(4): 304-309. Available at: <https://pmc.ncbi.nlm.nih.gov/articles/PMC6361597/>
- Short AD, Holder A, Rothwell S, Massey J, Scholey R, Kennedy LJ, Catchpole B, and Ollier WE (2014). Searching for monogenic diabetes in dogs using a candidate gene approach. *Canine Genetics and Epidemiology*, 1(1): 8. DOI: <https://www.doi.org/10.1186/2052-6687-1-8>
- Slead TS, Woolcock AD, Scott-Moncrieff JC, Messick JB, and Moore GE (2022). Complete blood counts and blood smear analyses in 312 diabetic dogs (2007-2017). *Journal of the American Animal Hospital Association*, 58(4): 180-188. DOI: <https://www.doi.org/10.5326/JAAHA-MS-7230>
- Thao TT, Ngoc TB, Nguyen DB, and Khanh NTP (2015). A preliminary study of diabete in dogs at Can Tho University clinic. *CTU Journal of Science*, 37(1): 1-5. Available at: <https://ctujsvn.ctu.edu.vn/index.php/ctujsvn/article/view/1477>
- Vaden SL (2009). *Blackwell's five-minute veterinary consult: Canine & feline. Laboratory tests and diagnostic procedures: Five minute veterinary consult*. Wiley-Blackwell., Ames, Iowa, pp. 32-738. Available at: <https://www.wiley.com/en-us/shop/general-introductory-veterinary-medicine/blackwell's-five-minute-veterinary-consult-canine-and-feline-7th-edition-p-9781119513179>
- Vaitaitis G, Webb T, Webb C, Sharkey C, Sharkey S, Waid D, and Wagner DH (2024). Canine diabetes mellitus demonstrates multiple markers of chronic inflammation including Th40 cell increases and elevated systemic-immune inflammation index, consistent with autoimmune dysregulation. *Frontiers in Immunology*, 14: 1319947. Available at: <https://www.doi.org/10.3389/fimmu.2023.1319947>
- World small animal veterinary association (WSAVA) (2025). Body condition score – Dog. Available at: https://www.wsava.org/wp-content/uploads/2025/06/WSAVA_BCSCat_BCSDog_Nutrition_250612.pdf

Publisher's note: Scieline Publication Ltd. remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Open Access: This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit <https://creativecommons.org/licenses/by/4.0/>.

© The Author(s) 2026